LES NOMBRES DE 0 A 100

1) Observe I'exemple et compléte le tableau.

Exemple : 36 = |3 dizaines 6 unités

75 =

31 =

52 =

2) Observe I'exemple et continue.

6 dizaines 5 unités =| 65

1 dizaine 3 unités =

6 dizaines 0 unité =

8 dizaines 3 unités =

4 dizaineS 6 unités =

3 dizaines 9 unités =

3) Observe I'exemple et continue.

Exemple : 36 = |10 +10 +10 + 6

46 =

20 =

55 =

37 =

84 =

4) Observe I'exemple et continue.

Exemple : 10 + 10 + 10 + 10 + 8 =

10+10+ 10+ 7 =

10+10+10+ 10+ 10+ 10+ 9 =

10+10+10+10+10+10+10+ 1 =

10+10+10+ 10+ 10+ 10+ 10+ 10+ 2 =

10+ 10+ 10+ 10+ 10+ 3 =




LES NOMBRES DE 0 A 100
CORRECTION

1) Observe I'exemple et compléte le tableau.

Exemple : 36 = |3 dizaines 6 unités
75 = 7 dizaines 5 unités
31 = 3 dizaines 1 unité
52 = 5 dizaines 2 unités
87 = 8 dizaines 7 unités
60 = 7 dizaines

2) Observe I'exemple et continue.

6 dizaines 5 unités =| 65
1 dizaine 3 unités =| 13

6 dizaines 0 unité =| 60

8 dizaines 3 unités =| 83

4 dizaines 6 unités =| 46

3 dizaines 9 unités =| 39

3) Observe I'exemple et continue.

Exemple : 36 = (10 +10 +10 + 6
46 = 10 + 10 +10 + 10+ 6
20 = 10+ 10
55 = 10+ 10+10+ 10+ 10+ 5
37 = 10+ 10+ 10+ 7
84 = 10+ 10+ 10+ 10+ 10+ 10+ 10+ 10 + 4

4) Observe I'exemple et continue.

Exemple : 10 + 10 + 10 + 10 + 8 = 48
10+10+ 10+ 7 = 37

10+10+ 10+ 10+ 10+ 10+ 9 = 69
10+10+10+ 10+ 10+ 10+ 10+ 1 = 71
10+10+10+ 10+ 10+ 10+ 10+ 10+ 2 = 82
10+ 10+ 10+ 10+ 10+ 3 = 53




